INTERIOR ESTIMATES FOR ELLIPTIC PARTIAL DIFFERENTIAL EQUATIONS IN THE $\mathscr{L}^{(q,\lambda)}$ SPACES OF STRONG TYPE

AKIRA ONO

Introduction. Recently the $\mathscr{L}^{(q,\lambda)}$ spaces have been investigated by many authors and the theory of these spaces has proved to be particularly important for research in partial differential equations (see for example [15], [16] and [18]).

The equations of elliptic type in these spaces were first studied by C. B. Morrey [8], [9], who applied his well-known imbedding theorems, and afterwards by S. Campanato [3], [4] with the aid of isomorphism theorems and the so-called fundamental inequalities due to him.

On the other hand, G. Stampacchia introduced the $\mathscr{L}^{(q,\lambda)}$ spaces of strong type [17], the structures of which are more general and complicated than those of $\mathscr{L}^{(q,\lambda)}$ spaces in the usual sense, and greater part of them were characterized by him, L. C. Piccinini, Y. Furusho, the author and others (see [5], [11]-[14], [16] and [17]).

Furthermore, M. Nakamura has given precise interior estimates for elliptic partial differential equations [10] by using theorems due to S. Agmon, A. Douglis and L. Nirenberg [1] and previous results obtained by the author.

In this paper, we will deduce more precise estimates for the solutions of elliptic partial differential equations in more general situations, that is, including equations of integral form.

This paper is organized as follows:

In Section 1 relevant definitions, fundamental assumptions on the equations and the first main theorems are stated. The proof of the theorems are given in Section 2.

In Section 3 we prove the Schauder estimates, that is, the strong Hölder continuity of the solutions.

The main tools for the proof of these theorems are theorems and techniques found in [1], [3], [4], [2], [7], [6], [12], [13], [14].

In Section 4 we apply the Morrey-Sobolev type imbedding theorems proved in [12] to deduce the regularity of the lower order derivatives of the solutions.

Additional comments on the above theorems are given in Section 5.

1. The strong $\mathscr{L}^{(q,\lambda)}$ estimates. Throughout this paper we denote by A,

Received May 8, 1980.

 D_1 , D_2 and D arbitrary fixed bounded domains in the Euclidean *n*-space E^n such that

$$A \subset \overline{A} \subset D_1 \subset \overline{D}_1 \subset D_2 \subset \overline{D}_2 \subset D$$

and such that all have sufficiently smooth boundaries.

We always consider subfamilies of integrable functions on D and an arbitrary subcube Q of the domain D with its sides parallel to the axes (from now on, subcube means such a parallel subcube). Furthermore, we denote the measure of a subcube Q by |Q| and the mean value of a function u over Q by

$$u_Q: u_Q = |Q|^{-1} \int_Q u(x) dx.$$

Definition 1. A function $u \in L^q(D)$ is said to belong to the space $\mathscr{L}_p^{(q,\lambda)}(D)$ (the $\mathscr{L}^{(q,\lambda)}$ space of strong type p), if the following inequality holds for u:

(1)
$$[u]_{\mathscr{L}_{p}^{(q,\lambda)}(D)} = \sup_{\{Q_{j}\}\in\overline{S}} \left[\sum_{j} \left(|Q_{j}|^{\overline{n}-1} \int_{Q_{j}} |u(x)-u_{Q_{j}}|^{q} dx \right)^{\frac{p}{q}} \right]^{\frac{1}{p}} < \infty$$

where $1 \leq p < \infty$, $1 \leq q < \infty$, $-\infty < \lambda < \infty$ and \overline{S} is the family of all systems of subcubes $\{Q_j: \cup_j Q_j \subset D\}$ of finite number, no two of which have common interior point. Taking as the norm of the space $\mathscr{L}_p^{(q,\lambda)}(D)$,

$$||u||_{\mathscr{L}_p^{(q,\lambda)}(D)} = [u]_{\mathscr{L}_p^{(q,\lambda)}(D)} + ||u||_{L^q(D)}$$

we obtain a Banach space.

Here, we note that the domain D is occasionally replaced by the subdomain A, D_1 or D_2 .

Definition 2. The Sobolev space $H^{l,p}(D)$ is the completion of the space $C^{l}(\overline{D})$ with respect to the norm

$$||u||_{H^{l,p}(D)} = \sum_{|\beta| \leq l} ||D^{\beta}u||_{L^{p}(D)}$$

Now, we consider the following linear elliptic partial differential equation:

(E)
$$\sum_{|\beta| \leq 2m} a_{\beta}(x) D^{\beta} u = f(x), \quad u \in H^{2m,p}(D).$$

Or, of the integral form:

$$(E)' \sum_{\substack{|\beta| \leq l \\ |\gamma| \leq 2m-l}} D^{\gamma}[a_{\beta\gamma}(x)D^{\beta}u] = \sum_{|\gamma| \leq 2m-l} D^{\gamma}f_{\gamma}(x), \quad u \in H^{l,p}(D),$$

$$(l < 2m)$$

under the fundamental assumptions for the equation (E):

 $(A)_{\mathscr{L}_{p}^{(q,\lambda)}}$ I. The coefficients $\{a_{\beta}\}$ and the (l-2m)-th derivatives $(l \ge a_{\beta})$

2*m*) of the function *f* belong to the spaces $C^{l-2m+\frac{n}{p}-\frac{\lambda}{q}}(D)$ and $\mathscr{L}_{p}^{(q,\lambda)}(D)$ respectively, where $0 < \lambda < n$ and $0 < \frac{n}{p} - \frac{\lambda}{q} < 1$.

II. (Uniform ellipticity). There exists a constant E greater than unity such that the following inequality holds:

(2)
$$E^{-1}|\xi|^{2m} \leq \sum_{|\beta|=2m} a_{\beta}(x)\xi^{\beta} \leq E|\xi|^{2m} \quad \forall x \in D.$$

Or, for the equation (E)':

 $(A)'_{\mathscr{L}_{p}^{(q,\lambda)}}$ I. The coefficients $\{a_{\beta\gamma}\}$ and the functions $\{f_{\gamma}\}$ belong to the spaces $C^{\frac{n}{p}-\frac{\lambda}{q}}(D)$ and $\mathscr{L}_{p}^{(q,\lambda)}(D)$ respectively, where $0 < \lambda < n$ and $0 < \frac{n}{p} - \frac{\lambda}{q} < 1$.

II. (Uniform ellipticity). The leading coefficients satisfy the following condition: there exists a constant E greater than unity such that

$$(2)' \quad E^{-1} |\xi|^{2m} \leq \sum_{|\beta+\gamma|=2m} a_{\beta\gamma}(x)\xi^{\beta+\gamma} \leq E|\xi|^{2m} \quad \forall x \in D.$$

Now, our first main results read as follows:

THEOREM 1. Under the condition $(A)_{\mathscr{L}_p^{(q,\lambda)}}$ the *l*-th derivatives of the solution *u* of the equation (*E*) belong to the space $\mathscr{L}_p^{(q,\lambda)}(A)$ and the following estimate holds for *u*:

$$(3) \qquad \sum_{|\beta| \leq l} ||D^{\beta}u||_{\mathscr{L}_{p}^{(q,\lambda)}(A)} \leq C \left(\sum_{|\gamma| \leq l-2m} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)} \right)$$

where C is a constant independent of u.

THEOREM 2. Under the condition $(A)'_{\mathcal{L}_p^{(q,\lambda)}}$ the l-th derivatives of the solution u of the equation (E)' belong to the space $\mathcal{L}_p^{(q,\lambda)}(A)$ and the following estimate holds for u:

(4)
$$\sum_{|\beta| \leq l} ||D^{\beta}u||_{\mathscr{L}^{(q,\lambda)}_{p}(A)} \leq C \left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\mathscr{L}^{(q,\lambda)}_{p}(D)} + ||u||_{L^{p}(D)} \right)$$

where C is a constant independent of u.

Here, we remark that throughout this paper we denote by the same letter C constants possibly different but independent of the function u or sometimes v.

2. Proof of theorems **1**, **2**. Before proceeding to prove Theorem 1, we prepare some lemmas.

LEMMA 1. [1] Let u be a $H^{2m,p}(D)$ solution of the equation (E) under the condition $(A)_{\mathscr{L}_{p}^{(q,\lambda)}}$. Then u belongs in fact to the space $H^{l,p}(A)$ and we have

(5)
$$||u||_{H^{l,p}(\mathcal{A})} \leq C \left(\sum_{|\gamma| \leq l-2m} ||D^{\gamma}f||_{L^{p}(D)} + ||u||_{L^{p}(D)} \right).$$

Here, we note that the space $\mathscr{L}_p^{(q,\lambda)}(D)$ is imbedded into the space $L^p(D)$ and therefore the right hand side of (5) is finite (see Lemma 2 below).

Next, we make the following definition so as to state Lemma 2.

Definition 3. A function $u \in L^p(D)$ is said to belong to the space Lip (a, p, D), that is, to satisfy a Lipshitz condition of order a in $L^p(D)$, if the following inequality holds for u:

(6)
$$[u]_{\text{Lip}(a,p,D)} =$$

X

$$\sup_{x,x+h\in D}|h|^{-a+\overline{a}}\left(\int_{D}|D^{\overline{a}}u(x+h)-D^{\overline{a}}u(x)|^{p}dx\right)^{1/p}<\infty$$

where $1 \le p < \infty$, $0 < a < \infty$ and \overline{a} is the greatest integer less than a. We define a norm $||u||_{\text{Lip}(a,p,D)}$ by

 $[u]_{\text{Lip}(a,p,D)} + ||u||_{L^{p}(D)}.$

Endowed with this norm, the space Lip(a, p, D) is a Banach space.

Then, the second lemma which we need is the following:

LEMMA 2. [12]. The space $\mathscr{L}_p^{(q,\lambda)}(D)$ is isomorphic to the space $\operatorname{Lip}\left(\frac{n}{p}-\frac{\lambda}{q}, p, D\right)$ and we have

(7)
$$C^{-1} ||u||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} \leq ||u||_{\operatorname{Lip}\left(\frac{n}{p} - \frac{\lambda}{q}, p, D\right)} \leq C ||u||_{\mathscr{L}_{p}^{(q,\lambda)}(D)}$$

where p, q and λ are arbitrary constants satisfying $1 , <math>1 < q < \infty$, $-q < \lambda < n$ and $0 < \frac{n}{p} - \frac{\lambda}{q} < 1$.

Now, we are going to give the

Proof of Theorem 1. From the equation (E), we have

$$\sum_{|\beta|=2m} a_{\beta}(x) D^{\beta} u(x) = -\sum_{|\beta| \le 2m-1} a_{\beta}(x) D^{\beta} u(x) + f(x)$$

$$\sum_{|\beta|=2m} a_{\beta}(x+h)D^{\beta}u(x+h)$$
$$= -\sum_{|\beta|\leq 2m-1} a_{\beta}(x+h)D^{\beta}u(x+h) + f(x+h)$$
$$\forall x, \forall x+h \in D.$$

Hence, we have easily

$$\sum_{|\beta|=2m} a_{\beta}(x) D^{\beta}(u(x + h) - u(x))$$

= $-\sum_{|\beta| \le 2m} (a_{\beta}(x + h) - \alpha_{\beta}(x)) D^{\beta}u(x + h)$
 $-\sum_{|\beta| \le 2m-1} a_{\beta}(x) (D^{\beta}u(x + h) - D^{\beta}u(x)) + f(x + h)$
 $-f(x).$

Applying Lemma 1 we obtain the following estimate for u(x + h) - u(x):

for an arbitrary vector h with norm sufficiently small such that $x \in D_1$ and $x + h \in D_2$.

This means that the following inequality holds:

$$||u(x + h) - u(x))||_{H^{l,p}(A)} \le C \left\{ \sum_{\substack{|\beta| \le 2m \\ |\gamma| \le l - 2m}} ||D^{\gamma}(a_{\beta}(x + h) - a_{\beta}(x))||_{L^{\infty}(D_{1})} \cdot ||u||_{H^{l,p}(D_{1})} \right\}$$

$$+ \sum_{|\beta| \le 2m-1} ||a_{\beta}||_{C^{l-2m}(D)} \cdot ||u(x + h) - u(x)||_{H^{l-1,p}(D_{1})} \\ + ||f(x + h) - f(x)||_{H^{l-2m,p}(D_{1})} + ||u(x + h) - u(x)||_{L^{p}(D_{1})} \bigg\}.$$

Here, applying Lemma 2 to f, Poincaré's inequality to

 $||u(x + h) - u(x)||_{H^{l-1,p}(D_1)}$

and afterwards Lemma 1 to

$$||u||_{H^{l,p}(D_2)},$$

we have

$$\leq C \left\{ |h|^{a} \left(\sum_{|\beta| \leq 2m} ||a_{\beta}||_{C^{l-2m+a}(D)} + 1 \right) ||u||_{L^{p}(D)} \right.$$

$$+ |h| \left(\sum_{|\beta| \leq 2m-1} ||a_{\beta}||_{C^{l-2m+a}(D)} + 1 \right) ||u||_{L^{p}(D)}$$

$$+ (|h| + |h|^{a}) \left(\sum_{|\beta| \leq 2m} ||a_{\beta}||_{C^{l-2m+a}(D)} \right.$$

$$+ 1 \left. \sum_{|\gamma| \leq l-2m} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} \right\}$$

$$\leq C |h|^{a} \left(\sum_{|\gamma| \leq l-2m} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)} \right) \left(a = \frac{n}{p} - \frac{\lambda}{q} \right).$$

Applying Lemma 2 again to the left hand side, we can conclude that the following estimate holds:

$$\sum_{|\beta| \leq I} ||D^{\beta}u||_{\mathscr{L}_{p}^{(q,\lambda)}(\mathcal{A})} \leq C \left(\sum_{|\gamma| \leq I-2m} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)} \right).$$

This completes the proof of Theorem 1.

Next, by calculations which are similar to but need more precision than those of the proof of Theorem 1 we give the

Proof of Theorem 2. For this purpose, we need the following lemma instead of Lemma 1:

LEMMA 3. [1] Let u be a $H^{l,p}(D)$ solution of the equation (E)' under the condition $(A')'_{\mathscr{L}_p^{(q,\lambda)}}$. Then, we have

(8)
$$||u||_{H^{l,p}(\mathcal{A})} \leq C \left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{L^{p}(D)} + ||u||_{L^{p}(D)} \right).$$

Now, from the equation (E)' we have

$$\sum_{\substack{|\beta|=l\\|\gamma|\leq 2m-l}} D^{\gamma}(a_{\beta\gamma}(x)D^{\beta}u(x)) = -\sum_{\substack{|\beta|\leq l-1\\|\gamma|\leq 2m-l}} D^{\gamma}(a_{\beta\gamma}(x)D^{\beta}u(x)) + \sum_{\substack{|\gamma|\leq 2m-l\\|\gamma|\leq 2m-l}} D^{\gamma}f_{\gamma}(x)$$
$$= -\sum_{\substack{|\beta|\leq l-1\\|\gamma|\leq 2m-l}} D^{\gamma}(a_{\beta\gamma}(x+h)D^{\beta}u(x+h)) + \sum_{\substack{|\gamma|\leq 2m-l\\|\gamma|\leq 2m-l}} D^{\gamma}f_{\gamma}(x+h) \quad \forall x, \forall x+h \in D$$

and therefore

$$\begin{split} &\sum_{\substack{|\beta|=l\\|\gamma|\leq 2m-l}} D^{\gamma} \{ a_{\beta\gamma}(x) D^{\beta}(u(x+h)-u(x)) \} \\ &= -\sum_{\substack{|\beta|\leq l\\|\gamma|\leq 2m-l}} D^{\gamma} \{ (a_{\beta\gamma}(x+h)-a_{\beta\gamma}(x)) D^{\beta}u(x+h)) \} \\ &- \sum_{\substack{|\beta|\leq l-1\\|\gamma|\leq 2m-l}} D^{\gamma} \{ a_{\beta\gamma}(x) D^{\beta}(u(x+h)-u(x)) \} \\ &+ \sum_{|\gamma|\leq 2m-l} D^{\gamma}(f_{\gamma}(x+h)-f_{\gamma}(x)). \end{split}$$

Applying Lemma 3 to u(x + h) - u(x), we have

$$\sum_{\substack{|\beta| \le l}} \|D^{\beta}(u(x + h) - u(x))\|_{L^{p}(A)}$$

$$\leq C \left\{ \sum_{\substack{|\beta| \le l \\ |\gamma| \le 2m-l}} \|(a_{\beta\gamma}(x + h) - a_{\beta\gamma}(x))D^{\beta}u(x + h)\|_{L^{p}(D_{1})} \right\}$$

AKIRA ONO

$$+ \sum_{\substack{|\beta| \leq l-1 \\ |\gamma| \leq 2m-l}} \|a_{\beta\gamma}(x)D^{\beta}(u(x + h) - u(x))\|_{L^{p}(D_{1})}$$

$$+ \sum_{\substack{|\gamma| \leq 2m-l}} \|f_{\gamma}(x + h) - f_{\gamma}(x)\|_{L^{p}(D_{1})}$$

$$+ \|u(x + h) - u(x)\|_{L^{p}(D_{1})} \Big\}.$$

Using condition $(A)'_{\mathscr{L}_{p}^{(q,\lambda)}}$ I for the coefficients $\{a_{\beta\gamma}\}$ and applying Poincaré's inequality to u(x + h) - u(x), this is

$$\leq C|h|^{a} \left\{ \left(\sum_{\substack{|\beta| \leq l \\ |\gamma| \leq 2m-l}} ||a_{\beta\gamma}||_{C^{a}(D)} \right) \cdot ||u||_{H^{l,p}(D_{2})} \right.$$

$$+ |h|^{1-a} \left(\sum_{\substack{|\beta| \leq l \\ |\gamma| \leq 2m-l}} ||a_{\beta\gamma}||_{C^{a}(D)} \right) \cdot ||u||_{H^{l,p}(D_{2})} \right.$$

$$+ \sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\operatorname{Lip}(a,p,D_{2})} + |h|^{1-a} ||u||_{H^{1,p}(D_{2})} \right\} \quad \left(a = \frac{n}{p} - \frac{\lambda}{q} \right)$$

$$\leq C|h|^{a} \left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\operatorname{Lip}(a,p,D_{2})} + ||u||_{H^{l,p}(D_{2})} \right).$$

Furthermore, applying Lemmas 2 and 3 to the first and second terms respectively, we have

$$\begin{split} &\sum_{|\beta| \leq l} \|D^{\beta}(u(x+h) - u(x))\|_{L^{p}(\mathcal{A})} \\ &\leq C|h|^{a} \left(\sum_{|\gamma| \leq 2m-l} \|f_{\gamma}\|_{\mathcal{L}^{(q,\lambda)}_{p}(D)} + \|u\|_{L^{p}(D)}\right). \end{split}$$

Applying Lemma 2 again to the left hand side of this inequality, we have

$$\begin{split} &\sum_{|\beta| \leq l} ||D^{\beta}u||_{\mathscr{L}_{p}^{(q,\lambda)}(\mathcal{A})} \\ &\leq C \bigg(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)} \bigg). \end{split}$$

Hence, the proof of Theorem 2 is complete.

3. Schauder estimates. We begin this section with the following:

Definition 4. We say that a function $u \in C^{k+\alpha}(D)$ belongs to the space $\mathscr{H}_p^{k+\alpha}(D)$ (the Hölder space of strong type p with exponent $k + \alpha$) if the following condition is satisfied:

$$[u]_{\mathscr{H}_{p}^{k+\alpha}(D)} = \sup_{\{Q_{j}\}\in\overline{S}} \left(\sum_{j} \sum_{|\beta|=k} [D^{\beta}u]_{C^{\alpha}(Q_{j})}^{p}\right)^{1/p} < \infty$$

where k, α , p are constants such that $0 \le k =$ integer, $0 < \alpha < 1$, $1 and in addition <math>\overline{S}$ is the family of all systems of subcubes of D considered in Definition 1. We ensure that the Space $\mathscr{H}_p^{k+\alpha}(D)$ is a Banach space by taking as the norm

$$||u||_{\mathscr{H}_{p}^{k+\alpha}(D)} = [u]_{\mathscr{H}_{p}^{k+\alpha}(D)} + \max_{x \in D} |u(x)|.$$

Now, in place of the fundamental condition $(A)_{\mathscr{L}_p^{(q,\lambda)}}$ on (E) or $(A)'_{\mathscr{L}_p^{(q,\lambda)}}$ on (E)' we propose the following:

 $(\mathcal{A})_{\mathscr{K}_p^{n}}$ I. The coefficients $\{a_{\beta}\}$ and the function f belong to the space $\mathscr{H}_p^{l-2m+\alpha}(D)$.

II. Same as the condition $(A)_{\mathscr{L}^{(q,\lambda)}}$ II.

 $(A)'_{\mathscr{H}_p^{\alpha}}$ I. The coefficients $[a_{\beta\gamma}]$ and the functions $\{f_{\gamma}\}$ belong to the space $\mathscr{H}_p^{\alpha}(D)$.

II. Same as the condition $(A)'_{\mathscr{L}^{(q,\lambda)}}$ II.

Then, the strong Hölder continuity of the derivatives of the solution read as follow:

THEOREM 3. Under the condition $(A)_{\mathscr{H}_p^{\alpha}}$, the $H^{2m,p}(D)$ solution u of the equation (E) is in fact $\mathscr{H}_p^{l+\alpha}(A)$ solution of (E) and the following estimate holds for u:

(9) $||u||_{\mathscr{H}_{p}^{l+\alpha}(A)} \leq C(||f||_{\mathscr{H}_{p}^{l-2m+\alpha}(D)} + ||u||_{L^{p}(D)}).$

THEOREM 4. Under the condition $(A)'_{\mathscr{H}_p^{\alpha}}$, the $H^{l,p}(D)$ solution u of the equation (E)' is in fact $\mathscr{H}_p^{l+\alpha}(A)$ solution of (E)' and the following estimate holds for u:

(10)
$$||u||_{\mathscr{H}_{\rho}^{l+\alpha}(\mathcal{A})} \leq C \bigg(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\mathscr{H}_{\rho}^{\alpha}(D)} + ||u||_{L^{p}(D)} \bigg).$$

For the proof of these theorems we prepare the following lemmas:

LEMMA 4. [1] Let u be a $H^{2m,p}(D)$ solution of the equation (E) under the condition $(A)_{\mathcal{H}_p^{\alpha}}$. Then, u is in fact a $C^{l+\alpha}(A)$ solution of the equation (E) and we have

(11)
$$||u||_{C^{l+\alpha}(A)} \leq C(||f||_{C^{l-2m+\alpha}(D)} + ||u||_{L^{p}(D)}).$$

LEMMA 5. [1] Let u be a $H^{l,p}(D)$ solution of the equation (E)' under the condition $(A')_{\mathcal{H}_p^{\alpha}}$. Then, u is in fact a $C^{l+\alpha}(A)$ solution of the equation (E)' and we have

(12)
$$||u||_{C^{l+\alpha}(\mathcal{A})} \leq C \bigg(\sum_{|\gamma| \leq 2m-l} ||f\gamma||_{C^{\alpha}(D)} + ||u||_{L^{p}(D)} \bigg).$$

LEMMA 6. The space $\mathscr{H}_p^{l+\alpha}(D)$ is isomorphic to the space $\operatorname{Lip}(l+\alpha+\frac{n}{p},p,D)$ and we have

(13)
$$C^{-1} \|\|u\|_{\mathscr{H}_{p}^{l+\alpha}(D)} \leq \|\|u\|_{\operatorname{Lip}\left(l+\alpha+\frac{n}{\overline{p}},p,D\right)} \leq C \|\|u\|_{\mathscr{H}_{p}^{l+\alpha}(D)}$$

where

$$0 < \alpha < 1$$
, $1 and $\alpha + \frac{n}{p} \leq 1$.$

We can prove this lemma by a procedure analogous to the proof of Theorem 1 in [12] and with the aid of the following:

LEMMA 7. $(-q < \lambda < 0 \ [2, 7]; \lambda = 0 \ [6]; 0 < \lambda < n \ [14])$. The space $\mathscr{L}_{p}^{(q,\lambda)}(D)$ is isomorphic to the space $\mathscr{L}_{p}^{\left(1,\frac{\lambda}{q}\right)}(D)$ and we have (14) $C^{-1} \|v\|_{\mathscr{L}_{p}^{(q,\lambda)}(D)} \leq \|v\|_{\mathscr{L}_{p}^{(1,(\lambda/q))}(D)} \leq \|v\|_{\mathscr{L}_{p}^{(q,\lambda)}(D)}$

where λ is an arbitrary constant indicated above and p, q are constants satisfying

$$1 \leq p < \infty, \quad 1 < q < \infty \quad and \quad \frac{\lambda}{q} \leq \frac{n}{p}.$$

In particular, for the case of $-q < \lambda < 0$ we may take $\mathscr{H}_p^{\alpha}(D)$ in place of $\mathscr{L}_p^{\left(1\frac{\lambda}{q}\right)}(D)$; where $0 < \alpha = -\lambda/q < 1$, and an analogous inequality to (14) holds.

Now, the proof of Theorem 3 is analogous to and simpler than that of Theorem 4 and therefore we give only the

Proof of Theorem 4. By the same calculations as in the proof of Theorem 2 and applying Lemma 3 to u(x + h) - u(x), we have

$$||u(x + h) - u(x)||_{H^{l,p}(A)}$$

$$\leq C \left\{ \sum_{\substack{||\beta|| \leq l \\ |\gamma|| \leq 2m-l}} ||(a_{\beta\gamma}(x + h) - a_{\beta\gamma}(x))D^{\beta}u||_{L^{p}(D_{1})} \right\}$$

$$+ \sum_{\substack{|\beta| \leq l-1 \\ |\gamma| \leq 2m-l}} \|a_{\beta\lambda}(x)D^{\beta}(u(x + h) - u(x))\|_{L^{p}(D_{1})}$$

+
$$\sum_{\substack{|\gamma| \leq 2m-l}} \|f_{\gamma}(x + h) - f_{\gamma}(x)\|_{L^{p}(D_{1})}$$

+
$$\|u(x + h) - u(x)\|_{L^{p}(D_{1})} \bigg\}.$$

Furthermore, utilizing Poincaré's inequality and Lemma 5 to u this is

$$\leq C(||u||_{C^{l+\alpha}(D_1)} \cdot \sum_{\substack{|\beta| \leq l \\ |\gamma| \leq 2m-l}} ||a_{\beta\gamma}(x+h) - a_{\beta\gamma}(x)||_{L^p(D_1)}$$

$$+ |h| ||u||_{C^{l+\alpha}(D_2)} \cdot \sum_{\substack{|\beta| \le l-1 \\ |\gamma| \le 2m-l}} ||a_{\beta\gamma}||_{L^p(D_1)} \\ + \sum_{|\gamma| \le 2m-l} ||f_{\gamma}(x+h) - f_{\gamma}(x)||_{L^p(D_1)} + |h| ||u||_{C^{l+\alpha}(D_2)}).$$

Applying Lemma 5 to $||u||_{C^{l+\alpha}}$ again we have

$$\leq C \left[\left\{ \sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{C^{\alpha}(D)} + ||u||_{L^{p}(D)} \right\} \right] \\ \times \left\{ \sum_{\substack{|\beta| \leq l \\ |\gamma| \leq 2m-l}} ||a_{\beta\gamma}(x + h) - a_{\beta\gamma}(x)||_{L^{p}(D_{1})} \right. \\ + |h| \left(\sum_{\substack{|\beta| \leq l-1 \\ |\gamma| \leq 2m-l}} ||a_{\beta\gamma}||_{L^{p}(D_{1})} + 1 \right) \right\} \\ + \sum_{\substack{|\gamma| \leq 2m-l}} ||f_{\gamma}(x + h) - f_{\gamma}(x)||_{L^{p}(D_{1})} \right].$$

Applying Lemma 6 to $\{a_{\beta\gamma}\}$ and $\{f_{\gamma}\}$ taking account of the condition $(A)'_{\mathscr{H}^{\alpha}_{p}}$ I, this is

$$\leq C\left\{\left(\sum_{|\gamma|\leq 2m-l} ||f_{\gamma}||_{C^{\alpha}(D)} + ||u||_{L^{p}(D)}\right)\right\}$$

$$\times \left(\sum_{\substack{|\beta| \leq l \\ |\gamma| \leq 2m-l}} ||a_{\beta\gamma}||_{\operatorname{Lip}\left(\alpha + \frac{n}{p}, p, D_{2}\right)} + 1 \right)$$
$$+ \sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\operatorname{Lip}\left(\alpha + \frac{n}{p}, p, D_{2}\right)} \right\} |h|^{\alpha + \frac{n}{p}}.$$

Applying Lemma 6 to the last term again, and furthermore noting that

 $\{ \|f_{\gamma}\|_{C^{\alpha}(D)} \}_{|\gamma| \leq 2m-l}$

are obviously majorized by

 $\{ \|f_{\gamma}\|_{\mathscr{H}^{\alpha}_{p}(D)} \}_{|\gamma| \leq m-l},$

we obtain the following inequality:

$$||u(x + h) - u(x)||_{H^{l,p}(A)} \leq C\left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\mathscr{H}^{\alpha}_{p}(D)} + ||u||_{L^{p}(D)}\right) |h|^{\alpha + \frac{n}{p}}.$$

Hence, we can conclude that u belongs to the space Lip $(l + \alpha + \frac{n}{p})$

(p, A) and therefore to the space $\mathscr{H}_p^{l+\alpha}(A)$ by Lemma 6, and the estimate (10) holds for u.

The proof of Theorem 4 is complete.

4. Applications of Morrey-Sobolev type imbedding theorems. We have proved the following theorem:

LEMMA 8. [12]. Let v be a function such that the derivatives v_x belong to the space $\mathscr{L}_p^{(q,\lambda)}(A)$, where p, q and λ are constants such that $1 , <math>1 < q < \infty$, $0 < \lambda < n$ and $0 < \frac{n}{p} - \frac{\lambda}{q} < 1$. Then, the following estimates hold for v: (i) $q < \lambda$; v belongs to the space $\mathscr{L}_q^{(\tilde{q},\lambda)}(A)$ and (15) $[v]_{\mathscr{L}_r^{(\tilde{q},\lambda)}(A)} \leq C ||v_x||_{\mathscr{L}_p^{(q,\lambda)}(A)}$

where $\frac{1}{\tilde{q}} = \frac{1}{q} - \frac{1}{\lambda}$ and *r* is an arbitrary constant greater than nq/λ . (ii) $q = \lambda$; *v* belongs to the space $\mathscr{L}_{r}^{(1,0)}(A)$ and

(16)
$$[v]_{\mathscr{L}_r^{(1,0)}(A)} \leq C ||v_x||_{\mathscr{L}_p^{(q,\lambda)}(A)}$$

where r is as in (i).

(iii)
$$q > \lambda$$
; v belongs to the space $\mathscr{H}_r^{1-\frac{\lambda}{q}}(A)$ and

$$(17) \quad [v]_{\mathscr{H}_r^{1-(\lambda/q)}(A)} \leq C ||v_x||_{\mathscr{L}_p^{(q,\lambda)}(A)}$$

where r is as in (i).

Here, we remark that throughout the remainder of this paper, we denote always by \tilde{q} the constant defined in (i) of this lemma.

Combining this lemma and Theorems 1, 2, we can deduce the following:

THEOREM 5. Let u be an $H^{l,p}(D)$ solution of the equation (E) or (E)' under the condition $(A)_{\mathscr{L}_p^{(q,\lambda)}}$ or $(A)'_{\mathscr{L}_p^{(q,\lambda)}}$ respectively. Then, the following estimates hold for u:

(i) $q < \lambda$; the derivatives $\{D^{\beta}u\}_{|\beta| \leq l-1}$ belong to the space $\mathscr{L}_{r}^{(\tilde{q},\lambda)}(A)$ and we have

(18)
$$\sum_{|\beta| \le l-1} ||D^{\beta}u||_{\mathscr{L}^{(\bar{q},\lambda)}_{r}(A)}$$
$$\le C \left(\sum_{|\gamma| \le l-2m} ||D^{\gamma}f||_{\mathscr{L}^{(q,\lambda)}_{p}(D)} + ||u||_{L^{p}(D)}\right)$$

in the case of (E), or

$$\leq C\left(\sum_{|\gamma|\leq 2m-l} ||f_{\gamma}||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)}\right)$$

in the case of (E)', where \tilde{q} , r are as in (i) of the preceding lemma.

(ii) $q = \lambda$; the derivatives $\{D^{\beta}u\}_{|\beta| \leq l-1}$ belong to the space $\mathscr{L}_{r}^{(1,0)}(A)$ and we have

(19)
$$\sum_{|\beta| \le l-1} \|D^{\beta}u\|_{\mathscr{L}^{(1,0)}_{r}(\mathcal{A})} \le \text{ the right hand side of (18)}$$

where r is as in (i).

(iii) $q > \lambda$; u belongs to the space $\mathscr{H}_r^{l-\frac{\lambda}{q}}(A)$ and we have (20) $||u||_{\mathscr{H}_r^{l-(\lambda/q)}(A)} \leq the right hand side of (18)$

where r is as in (i).

Proof. By taking $v_x = \{D^{\beta}u\}_{|\beta|=l}$ and applying the preceding lemma the conclusion is immediate with the aid of Theorems 1, 2.

Next, we shall prove that analogous results to Theorem 5 hold under weaker conditions than the condition $(A)_{\mathscr{L}_{0}^{(q,\lambda)}}$ I or $(A)'_{\mathscr{L}_{0}^{(q,\lambda)}}$ I.

For this purpose, we make at first the following condition on (E)instead of the condition $(A)_{\mathscr{L}_{p}^{(q,\lambda)}}$ I:

$$(A)_{\mathscr{L}_p^{(q,\lambda)}}$$
 I'. $l \ge 2m + 1, \frac{n}{p} < \frac{\lambda}{q}$ and the coefficients $\{a_\beta\}_{|\beta| \le 2m}$ and

the functions $\{D^{\gamma}f\}_{|\gamma| \leq l-2m}$ belong to the spaces $C^{l-2m+\frac{n}{p}-\frac{\lambda}{q}}(D)$ and $\mathscr{L}^{(q,\lambda)}(D)$ respectively. $\mathscr{L}_{p}^{(q,\lambda)}(D)$ respectively.

Although the condition $(A)_{\mathscr{L}_{p}^{(q,\lambda)}}$ I' is of the same type as the condition $(A)_{\mathscr{L}^{(q,\lambda)}}$ I, these two conditions are essentially different: namely,

LEMMA 9. The condition $(A)_{\mathscr{L}^{q,\lambda}_{lp}}$ I' means the following:

(i) $q < \lambda$ and $\frac{\lambda}{\tilde{a}} < \frac{n}{p} < \frac{\lambda}{a}$; $\{a_{\beta}\}_{|\beta| \leq 2m}$ and $\{D^{\gamma}f\}_{|\gamma| \leq l-2m-1}$ belong to the spaces

$$C^{l-2m-1+\frac{n}{p}-\frac{\lambda}{\widetilde{q}}}(D) \text{ and } \mathscr{L}_{p}^{(\widetilde{q},\lambda)}(D)$$

respectively and we have

(21)
$$\sum_{|\gamma| \le l-2m-1} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(\tilde{q},\lambda)}(D)} \le C \sum_{|\gamma| \le l-2m} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)}$$

(ii) $q = \lambda$; $\{a_{\beta}\}_{|\beta| \leq 2m}$ and $\{D^{\gamma}f\}_{|\gamma| \leq l-2m-1}$ belong to the spaces

$$C^{l-2m-1+rac{n}{p}}(D)$$
 and $\mathscr{L}^{(1,0)}_p(D)$

respectively and we have

(22)
$$\sum_{|\gamma| \le l-2m-1} ||D^{\gamma}f||_{\mathscr{L}^{(1,0)}_{p}(D)} \le C \sum_{|\gamma| \le l-2m} ||D^{\gamma}f||_{\mathscr{L}^{(q,\lambda)}_{p}(D)}.$$

(iii) $q > \lambda$; $\{a_{\beta}\}_{|\beta| \leq 2m}$ and f belong to the spaces

$$C^{l-2m-1+\left(rac{n}{p}+1-rac{\lambda}{q}
ight)}(D) \text{ and } \mathscr{H}_{p}^{l-2m-rac{\lambda}{q}}(D)$$

respectively and we have

(23)
$$||f||_{\mathscr{H}_{p}^{l-2m-(\lambda/q)}(D)} \leq C \sum_{|\gamma| \leq l-2m} ||D^{\gamma}f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)}.$$

Proof. We note at first the following equality:

$$l-2m+\frac{n}{p}-\frac{\lambda}{q}=l-2m-1+\left(\frac{n}{p}-\frac{\lambda}{q}+1\right)$$

$$= l - 2m - 1 + \frac{n}{p} - \frac{\lambda}{\tilde{q}}$$
 in the case of (i)
$$= l - 2m - 1 + \frac{n}{p}$$
 in the case of (ii)

and afterwards we refer the following theorem for the proof of the inequalities (21)-(23).

LEMMA 10. [12] Let v be a function such that the derivatives v_x belong to the space $\mathscr{L}_p^{(q,\lambda)}(D)$, where p, q and λ are constants such that $1 , <math>1 < q < \infty$, $0 < \lambda < n$ and $\frac{n}{p} < \frac{\lambda}{q}$. Then, the following estimates hold for v:

(i) $q < \lambda$ and $\frac{\lambda}{\tilde{q}} < \frac{n}{p} < \frac{\lambda}{q}$; v belongs to the space $\mathscr{L}_p^{(\tilde{q},\lambda)}(D)$ and we have

have

(24)
$$[v]_{\mathscr{L}_p^{(\tilde{q},\lambda)}(D)} \leq C ||v_x||_{\mathscr{L}_p^{(q,\lambda)}(D)}.$$

(ii) $q = \lambda$; v belongs to the space $\mathscr{L}_p^{(1,0)}(D)$ and we have

(25)
$$[\mathbf{v}]_{\mathscr{L}_p^{(1,0)}(D)} \leq C ||\mathbf{v}_X||_{\mathscr{L}_p^{(q,\lambda)}(D)}.$$

(iii) $q > \lambda$; v belongs to the space $\mathscr{H}_p^{1-\frac{\lambda}{q}}(D)$ and we have

(26) $[v]_{\mathscr{H}_p^{1-(\lambda/q)}(D)} \leq C ||v_x||_{\mathscr{L}_p^{(q,\lambda)}(D)}.$

Now, our last main result is the following:

THEOREM 6. Under the conditions $(A)_{\mathscr{L}_p^{(q,\lambda)}}$ I' and II, $H^{l,p}(D)$ solution $(l \ge 2m + 1)$ u of the equation (E) satisfies the following estimates:

(i) $q < \lambda$ and $\frac{\lambda}{\tilde{q}} < \frac{n}{p} < \frac{\lambda}{q}$; $\{D^{\beta}u\}_{|\beta| \leq l-1}$ belong to the space $\mathscr{L}_{p}^{(\tilde{q},\lambda)}(A)$ and we have

(27)
$$\sum_{|\beta| \leq l-1} ||D^{\beta} u||_{\mathscr{L}_{p}^{(\tilde{q},\lambda)}(\mathcal{A})} \leq C \left(\sum_{|\gamma| \leq l-2m} ||D^{\gamma} f||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)} \right).$$

(ii) $q = \lambda$; $\{D^{\beta} u\}_{|\beta| \leq l-1}$ belong to the space $\mathscr{L}_{p}^{(1,0)}(A)$ and we have

(28) $\sum_{|\beta| \le l-1} ||D^{\beta}u||_{\mathscr{L}_{p}^{(1,0)}(A)} \le \text{ the right hand side of (27).}$

(iii) $q > \lambda$; u belongs to the $\mathscr{H}_p^{l-\frac{\lambda}{q}}(A)$ and we have (29) $||u||_{\mathscr{H}_p^{l-(\lambda/q)}(A)} \leq the right hand side of (27).$

Proof. (i) By taking $l - 1 \ (\geq 2m)$, \tilde{q} in place of l, q in Theorem 1 respectively, we can easily verify the following inequality:

AKIRA ONO

$$\sum_{|\beta| \leq l-1} \|D^{\beta}u\|_{\mathscr{L}_{p}^{(\tilde{q},\lambda)}(\mathcal{A})} \leq C \left(\sum_{|\gamma| \leq l-2m-1} \|D^{\gamma}f\|_{\mathscr{L}_{p}^{(\tilde{q},\lambda)}(D)} + \|u\|_{L^{p}(D)}\right).$$

And applying Lemma 9 (i) to the first term of the right hand side of the above inequality, we can conclude that the estimate (27) holds for u, which completes the proof of the case (i).

By similar arguments as in the proof of the case (i), we can deduce the estimates (28), (29) for the cases (ii), (iii) respectively.

Hence, the proof of this theorem is complete.

Moreover, we can assert that there holds the following:

PROPOSITION 1. Let u be an $H^{l,p}(D)$ solution $(l \ge 2m + 1)$ of the equation (E) under the condition $(A)_{\mathscr{L}_p^{(q,\lambda)}}$ with $\frac{n}{p} = \frac{\lambda}{q}$. Then, the estimates of the same type as in Theorem 5 hold for u.

Proof. Let r be an arbitrary constant greater than $p = nq/\lambda$. Then, using Theorem 6, the estimates (27)-(29) hold for u with r in place of p.

Hence, the conclusion follows directly by using the well known inequality (see [17]):

 $||D^{\gamma}f||_{\mathscr{L}^{(q,\lambda)}(D)} \leq ||D^{\gamma}f||_{\mathscr{L}^{(q,\lambda)}(D)}.$

Remark 1. This proposition asserts that Theorem 5 concerning the equation (E) $(l \ge 2m + 1)$ holds as long as $\frac{\lambda}{q} \le \frac{n}{p} < \frac{\lambda}{q} + 1$, that is, it is still valid for the limiting case.

Now, we terminate this section by showing a proposition concerning the limiting case of the equation (E)' as follows:

PROPOSITION 2. Let u be an $H^{l,p}(D)$ solution of (E)' $(1 \le l \le 2m)$ under the condition $(A')_{\mathscr{L}_{p}^{(q,\lambda)}}$ with $p = nq/\lambda$. Then, the following estimates hold for u:

(i)
$$q \leq \lambda$$
; $\{D^{\beta}u\}_{|\beta|\leq l-1}$ belong to the space $\mathscr{L}_{p_1}^{(\tilde{q}_1,\lambda)}(A)$ and
(30) $\sum_{|\beta|\leq l-1} ||D^{\beta}u||_{\mathscr{L}_{p_1}^{(\tilde{q}_1,\lambda)}(A)} \leq C\left(\sum_{|\gamma|\leq 2m-l} ||f_{\gamma}||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^p(D)}\right)$

where p_1 , q_1 and \tilde{q}_1 are constants such that

$$1 < p_1 < p = \frac{ng}{\lambda}, q_1 = \frac{\lambda p_1}{n} > 1 \quad and \quad \frac{1}{\tilde{q}_1} = \frac{1}{q_1} - \frac{1}{\lambda}.$$
(ii) $q > \lambda$; u belongs to the space $\mathscr{H}_{p_1}^{l - \frac{\lambda}{q_1}}(A)$ and

(31) $||u||_{\mathscr{H}_{p_1}^{1-(\lambda/q_1)}(A)} \leq \text{the right hand side of (30)}$

where p_1 and q_1 are as in (i).

For the proof of this proposition, we make use of the following lemmas.

LEMMA 11. [6]. Let v be a function belonging to the space $\mathscr{L}_p^{\left(1,\frac{\lambda}{q}\right)}(D)$ ($p = nq/\lambda$). Then, in fact v belongs to the space $L^{p_1}(D)$ for any constant such as $1 < p_1 < p$ and

(32)
$$\|v\|_{L^p(D)} \leq C \|v\|_{\mathscr{L}^{p(1,(\lambda/q)}(D)}$$
.

LEMMA 12. [11]. The space $\mathscr{L}_{p_1}^{(p_1,n-p_1)}(A)$ is isomorphic to the Sobolev space $H^{1,p_1}(A)$ and

(33)
$$C^{-1} ||v||_{H^{1,p_1}(A)} \leq ||v||_{\mathscr{L}_{p_1}^{(p_1,n\cdot p_1)}(A)} \leq C ||v||_{H^{1,p_1}(A)}.$$

Proof of Proposition 2. We give the proof for the cases (i) and (ii) simultaneously.

As the functions $\{f_{\gamma}\}_{|\gamma| \leq 2m-l}$ belong to the space $L^{p_1}(D)$ by Lemma 11, the following estimate holds for u by Lemma 3:

$$\sum_{|\beta| \leq l} ||D^{\beta}u||_{L^{p_{1}}(A)} \leq C \left(\sum_{|\lambda| \leq 2m-l} ||f_{\gamma}||_{L^{p_{1}}(D)} + ||u||_{L^{p_{1}}(D)} \right).$$

This means that the functions $\{D^{\beta} u\}_{|\beta| \leq l-1}$ belong to the Sobolev space $H^{1,p_1}(A)$ and therefore to the space $\mathscr{L}_{p_1}^{(p_1,n-p_1)}(A)$ by Lemma 12. Here, we note that p_1 is equal to nq_1/λ $(1 < q_1 < q)$ and therefore

$$\mathscr{L}_{p_1}^{(p_1,n-p_1)}(A) = \mathscr{L}_{p_1}^{\left(\frac{nq_1}{\lambda},\frac{nq_1}{\lambda}\left(\frac{\lambda}{q_1}-1\right)\right)}(A)$$
$$\cong \mathscr{L}_{p_1}^{(\widetilde{q}_1,\lambda)}(A) \text{ in the case of (i)}$$

or

$$\cong \mathscr{H}_{p_1}^{1-\frac{\lambda}{q_1}}(A)$$
 in the case of (ii).

The last isomorphism relations follow from Lemma 7.

Hence, the proof is complete with the aid of the following inequality (see (32)):

$$\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{L^{p_1}(D)} + ||u||_{L^{p_1}(D)}$$

$$\leq C \left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{\mathscr{L}_{p}^{(q,\lambda)}(D)} + ||u||_{L^{p}(D)} \right).$$

Remark 2. If we take the strong Morrey space $L_p^{(q,\lambda)}(D)$ ($p = nq/\lambda$; for the definition see [16]) instead of space $\mathscr{L}_p^{(q,\lambda)}(D)$, then we can obtain slightly stronger results than those of Proposition 2, which are closely analogous to those of Theorem 5; namely, the following estimates hold for u:

(i) $q < \lambda$; $\{D^{\beta}u\}_{|\beta| \le l-1}$ belong to the space $\mathscr{L}_{p}^{(\tilde{q},\lambda)}(A)$ and

(34)
$$\sum_{|\beta| \leq l-1} ||D^{\beta}u||_{\mathscr{L}^{(\bar{q},\lambda)}_{p}(\mathcal{A})} \leq C \left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{L^{(q,\lambda)}_{p}(D)} + ||u||_{L^{p}(D)} \right).$$

(ii) $q = \lambda$; $\{D^{\beta}u\}_{|\beta| \le l-1}$ belong to the space $\mathscr{L}_{p}^{(1,0)}(A)$ and

- (35) $\sum_{|\beta| \le l-1} ||D^{\beta}u||_{\mathcal{L}_{p}^{(1,0)}(\mathcal{A})} \le \text{ the right hand side of (34).}$
 - (iii) $q > \lambda$; *u* belongs to the space $\mathscr{H}_p^{j-\frac{\lambda}{q}}(A)$ and

(36) $||u||_{\mathcal{H}_p^{(1-(\lambda/q)}(A)} \leq \text{the right hand side of (34).}$

Actually, the space $L_p^{(q,\lambda)}(D)$ $(p = nq/\lambda)$ is isomorphic to the space $L^p(D)$ (for the proof, see [16] or [17]) and the conclusion is immediate by applying Lemmas 3, 12 and 7 successively, as in the proof of Proposition 2.

5. Comments on the theorems.

1. According to [3], we make the following:

Definition 5. Let X be a normed function space. Then, a function ζ is said to belong to the multiplicator space on X:M(X), if the following inequality holds for an arbitrary function v belonging to the space X:

$$(37) \quad ||\xi v||_X \leq C \, ||v||_X.$$

Therefore, we take the multiplicator spaces fairly wide so as to deduce the preceding theorems as follows:

THEOREM 1.
$$X = \{u; \{D^{\beta}u\}_{|\beta| \leq l} \in \mathscr{L}_{p}^{(q,\lambda)}(A)\}; M(X)$$

= $C^{l-2m+\frac{n}{p}-\frac{\lambda}{q}}(D).$

THEOREM 2. $X = same as Theorem 1; M(X) = C^{\frac{n}{p} - \frac{\lambda}{q}}(D).$ THEOREM 3. $X = \mathscr{H}_p^{l+\alpha}(A); M(X) = \mathscr{H}_p^{l-2m+\alpha}(D).$ THEOREM 4. $X = same as Theorem 3; M(X) = \mathscr{H}_p^{\alpha}(D).$ THEOREM 5. the same type as Theorems 1, 2. THEOREM 6. the same type as Theorem 1. Here, we make the following:

Remark 3. If $-q < \lambda < 0$ in Theorems 1, 2, then we may set

$$\alpha = -\frac{\lambda}{q} \quad (0 < \alpha < 1)$$

and therefore

 $M(X) = C^{l-2m+\alpha+\frac{n}{p}}(D), C^{\alpha+\frac{n}{p}}(D) \text{ respectively.}$

On the other hand, in Theorems 3 and 4 $M(X) = \mathscr{H}_p^{l-2m+\alpha}(D)$ and $\mathscr{H}_p^{\alpha}(D)$ which are isomorphic to the spaces $\operatorname{Lip}(l-2m+\alpha+\frac{n}{p},p,D)$ and $\operatorname{Lip}(\alpha+\frac{n}{p},n,D)$ respectively by Lemma 6. Obviously, these spaces

and $\text{Lip}(\alpha + \frac{n}{p}, p, D)$ respectively by Lemma 6. Obviously, these spaces

are wider than the spaces $C^{l-2m+\alpha+\frac{n}{p}}(D)$ and $C^{\alpha+\frac{n}{p}}(D)$ with their corresponding norms respectively. Hence, Theorems 3, 4 give more precise estimates for negative λ than Theorems 1, 2 because of Lemmas 4-6.

2. If $\frac{n}{p} - \frac{\lambda}{q}$ is equal to or greater than unity, then we can improve some of the preceding theorems as follow:

THEOREMS 1, 2. The solution u belongs to the Sobolev space $H^{l+1,p}(A)$ and we have

(38) $||u||_{H^{l+1,p}(A)} \leq C \left(||f||_{H^{l-2m+1,p}(D)} + ||u||_{L^{p}(D)} \right)$

for the equation (E) or

$$\leq C \left(\sum_{|\gamma| \leq 2m-l} ||f_{\gamma}||_{H^{1,p}(D)} + ||u||_{L^{p}(D)} \right)$$

for the equation (E)'.

THEOREM 5. (i) $q < \lambda$; the derivatives $\{D^{\beta}u\}_{|\beta| \leq l-1}$ belong to the space $\mathscr{L}_{p*}^{(\tilde{q},\lambda)}(A)$ and we have

(39)
$$\sum_{|\beta| \leq l-1} \|D^{\beta}u\|_{\mathscr{L}^{(\bar{q}\lambda)}(\mathcal{A})} \leq \text{ the right hand side of (38)}$$

where p* is the Sobolev's exponent; that is,

$$\frac{1}{p^*} = \frac{1}{p} - \frac{1}{n} \ge \frac{\lambda}{nq}.$$

(ii) $q = \lambda$; the derivatives $\{D^{\beta}u\}_{|\beta| \leq l-1}$ belong to the space $\mathscr{L}_{p^*}^{(1,0)}(A)$ and we have

(40)
$$\sum_{|\beta| \le l-1} \|D^{\beta}u\|_{\mathscr{L}^{(1,0)}(A)} \le \text{ the right hand side of (38)}$$

where p^* is as in (i).

(iii) $q > \lambda$; *u* belongs to the space $\mathscr{H}_{p^*}^{l-\frac{\lambda}{q}}(A)$ and we have (41) $||u||_{\mathscr{H}_{p^*}^{l-(\lambda/q)}(A)} \leq the right hand side of (38)$ where p^* is as in (i).

Acknowledgement. The author wishes to express his sincere thanks to Professor Robert A. Adams for the valuable discussions with him and his constant encouragement during the preparation of this article. The author is also deeply indebted to Professor George F. D. Duff for his constant hospitality to the author and very kind efforts to publish this paper.

References

- 1. S. Agmon, A. Douglis and L. Nirenberg, *Estimates near the boundary for solutions of elliptic partial differential equations satisfying general boundary conditions* I, Comm. Pure Appl. Math 12 (1959), 623-727.
- S. Campanato, Proprietà di Hölderianità di alcune classi di funzioni, Ann. Scuola Norm. Sup. Pisa 17 (1963), 177-188.
- **3.** Equazioni ellittiche del II° ordine e spazi $\mathscr{L}^{2,\lambda}$, Ann. Mat. Pura Appl. 69 (1965), 321-381.
- **4.** *Equazioni ellittiche non variazionali a coefficienti continui*, Ann. Mat. Pura Appl. *86* (1970), 125-154.
- **5.** Y. Furusho, On inclusion property for certain $\mathscr{L}^{(p,\lambda)}$ spaces of strong type, Funkcial. Ekvac. 23 (1980), 197-205.
- F. John and L. Nirenberg, On functions of bounded mean oscillation, Comm. Pure Appl. Math. 14 (1961), 415-426.
- 7. G. N. Meyers, *Mean oscillation over cubes and Hölder continuity*, Proc. Amer. Math. Soc. 15 (1964), 717-721.
- 8. C. B. Morrey, On the solutions of quasi-linear elliptic partial differential equations, Trans. Amer. Math. Soc. 43 (1938), 126-166.
- 9. ——— Second order elliptic equations in several variables and Hölder continuity, Math. Z. 72 (1959), 146-164.
- **10.** M. Nakamura, Interior estimates for the solutions of elliptic partial differential equations in the strong $\mathscr{L}^{(q,\mu)}$ spaces, Rep. Fac. Sci. Engi. Saga Univ. 3 (1975), 65-72.
- 11. A. Ono, On isomorphism between certain strong $\mathscr{L}^{(p,\lambda)}$ spaces and the Sobolev spaces $H^{1,p}$, Boll. Unione Mat. Itali. 5 (1972), 230-233.
- 12. On isomorphism between certain strong $\mathscr{L}^{(p,\lambda)}$ spaces and the Lipschitz spaces and its applications, Funkcial. Ekvac. 21 (1978), 261-270.
- 13. Remarks on the Morrey-Sobolev type imbedding theorems in the strong $\mathscr{L}^{(p,\lambda)}$ spaces, Math. Rep. Coll. Gene. Educ. Kyushu Univ. 11 (1978), 149-155.
- 14. A. Ono and Y. Furusho, On isomorphism and inclusion property for certain $\mathscr{L}^{(p,\lambda)}$ spaces of strong type, Ann. Mat. Pura Appl. 114 (1977), 289-304.
- 15. J. Peetre, On the theory of $\mathscr{L}_{p,\lambda}$ spaces, J. Func. Anal. 4 (1969), 71-87.
- 16. L. C. Piccinini, Proprietà di inclusione e di interpolazione tra apazi di Morrey e loro generalizzazioni (Thesis, Scuola Norm. Sup. Pisa, 1969).
- 17. G. Stampacchia, *The spaces* $\mathscr{L}^{(p,\lambda)}$, $N^{(p,\lambda)}$ and interpolation, Ann. Scuola Norm. Sup. Pisa 19 (1965), 443-462.
- **18.** The $\mathscr{L}^{(p,\lambda)}$ spaces and applications to the theory of partial differential equations, Proc. Conf. Diff. Equ. Appl., Bratislava (1969), 129-141.

Kyushu University, Fukuoka, Japan